Maﬂ» 5222 lectue 14 Problems

Problems
1. Show that
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-, 3. Using the formula of Problem 2 show that
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and Rz + Rigis + Ruge = 0.

4. If ¢ is a scalar, then g'/¢ ;; is a scalar and is equal {o
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5. Referring to Problem 4, show that g¥/¢ ;; = 0 reduces to 92/ 8zt ax? =0
when the g;; are the metric coefficients of Ey referred to a cartesian frame. This
implies that Laplace’s equation in general curvilinear coordinates has the form
gY¢ ;5= 0, since this is a tensor equation.
. 6. Referring to Problem 5, show that Laplace’s equation in polar coordinates
has the form.
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